Accelerated Pre-Calculus
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Solving Review 1.5, 1.6, 1.8, 1.9, 1.11 %’uﬁ)
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Solve the inequality. Express the solution using interval notation.

19. 2[x+1|+1<5 7 J(H}L4

16. 7x~526x+4 17. 9<3x+6 <15 18. [x-2|24
e 3¢ 38X 9 X-124 U X-1¢ 4 /w}u.
14X<3 Xzb YX&-2 YHEL N X+1=Z-2 @
[qlm) (I 3) y;)nx-:—-g 'jé’X"‘,
! l(— o, "Z]U[b, ”ﬂ
Graph -
20. {(x,y)|-4<x<4&-2<y<2} 21 {(xy)|x=—4or y22 A y|y- 3x<2&—4<y<0}
- £3X+ L
J » /Y\ 4 ¥ y Y, A
11 k f.‘ G‘ I
' : | f f")‘(
3 ; s NV
'; IFR S| ] - H,
N TN g A . : J. 4 /
6 -5 AEgic 'I 2{(,; 56 EE EEEDEEEERN 5{0‘*' <6 -5 4 -3 <2 - R -,;.;p;i;.;j.:;
-FHEpeER . =y
¥ T J- |

Test the equations for x-axis, y-axis and origin symmetry. (Show your work for each)
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Use your graphing calculator to solve the following.
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